

17. mars 16.4 Deriv integration

2021

$$\int x e^x dx ?$$

$$= x e^x - e^x + C$$

$$(x e^x)' = (x)' \cdot e^x + x \cdot (e^x)'$$

$$= e^x + x e^x$$

$$(x e^x)' - e^x = x e^x$$

$$(x e^x)' - (e^x)' = (x e^x - e^x)'$$

$$= x e^x$$

$$(u \cdot v)' = u' \cdot v + u \cdot v'$$

Produktregel
for derivation

$$\int u' \cdot v dx + \int u \cdot v' dx = u \cdot v + C$$

$$\left(\int (u' \cdot v + u \cdot v') dx \right)$$

$$\int u' \cdot v dx = u \cdot v - \int u \cdot v' dx$$

$$\begin{aligned}
 \int x e^x dx &= (e^x + c) x - \int \frac{1}{x'} \cdot (e^x + c) dx \\
 &= x e^x + c x - \int e^x + c dx \\
 &= x e^x + c x - (e^x + c \cdot x) + k \\
 &= x e^x - e^x + k
 \end{aligned}$$

$\underbrace{\hspace{10em}}_{\text{löschen an alle antiderivate.}}$

$$\begin{aligned}
 \int x^2 e^x dx &= x^2 e^x - \int 2x e^x dx \\
 &= x^2 e^x - 2 \underbrace{\int x e^x dx}_{(x e^x - e^x) + k} + k \\
 \int x^2 e^x dx &= x^2 e^x - 2x e^x + 2e^x + C
 \end{aligned}$$

$V = x^2$
 $V' = 2x$
 $u = e^x$
 $u' = e^x$
Wegwer

$$\int x^n e^x dx = x^n e^x - n \int x^{n-1} e^x dx$$

$$V' = n x^{n-1} \quad \int x^{14} e^x dx = \text{bruk den rekursive formel 14 ganger}$$

$$u = e^x \quad (14\text{-gradspolynom}) \quad e^x + C$$

opp

$$\int x \underbrace{\sin(2x)}_{u'} dx = x \left(\frac{-\cos(2x)}{2} \right) - \int 1 \cdot \frac{-\cos(2x)}{2} dx$$

$$= -\frac{x}{2} \cos(2x) + \frac{1}{2} \int \cos(2x) dx$$

$$= -\frac{x}{2} \cos(2x) + \frac{1}{4} \sin(2x) + C$$

$$V = x \quad V' = 1$$

$$u = \sin(2x)$$

$$u' = \frac{-\cos(2x)}{2}$$

$$\int \ln|x| dx = \int \frac{1}{u'} \cdot \ln|x| dx$$

delvis integrasjon

$$u \cdot v - \int u \cdot v' dx$$

$$= x \ln|x| - \int x \cdot \frac{1}{x} dx$$

$$= x \ln|x| - \int 1 dx$$

$$= x \ln|x| - x + C$$

$$\frac{\int (\ln|x|)^2 dx}{u' = 1} = \int \frac{1}{1} \cdot \underbrace{(\ln|x|)^2}_{\text{velger } u = x} dx \quad \left(\begin{array}{l} \text{velger } u = x \\ v = (\ln|x|)^2 \\ v' = 2 \ln|x| \cdot \frac{1}{x} \end{array} \right)$$

$$\text{opp} \int (\ln|x|)^2 - \int \underbrace{x \cdot 2 \ln|x| \cdot \frac{1}{x}}_{x \cdot \frac{1}{x} = 1} dx$$

$$= x (\ln|x|)^2 - 2 \int \ln|x| dx$$

$$= x (\ln|x|)^2 - 2x \ln|x| + 2x + C$$

$$= x (\ln|x|)^2 - 2 \int \ln|x| dx$$

$$\begin{array}{l} u' = 1 \text{ velger } u = x \\ v = \ln|x| \\ v' = 1/x \end{array}$$

$$\left(x \cdot \frac{1}{x} = \frac{x}{x} = 1 \text{ for } x \neq 0 \right)$$

$$\int e^{ax} \sin bx \, dx$$

$$u' = e^{ax}$$

$$u = \frac{1}{a} e^{ax}$$

$$v = \sin bx$$

$$v' = b \cos bx$$

$$\int u' v \, dx$$

$$z' = e^{ax}$$

$$z = \frac{1}{a} e^{ax}$$

$$= \frac{1}{a} e^{ax} \sin bx - \int \frac{1}{a} e^{ax} (b \cos bx) \, dx$$

$$w = \cos bx$$

$$w' = -b \sin bx$$

$$= \frac{1}{a} e^{ax} \sin bx - \frac{b}{a} \int e^{ax} \cos bx \, dx$$

$$\int e^{ax} \sin bx \, dx = \frac{1}{a} e^{ax} \sin bx - \frac{b}{a^2} e^{ax} \cos bx - \frac{b^2}{a^2} \int e^{ax} \sin bx \, dx$$

further over

$$\left(1 + \frac{b^2}{a^2}\right) \int e^{ax} \sin bx \, dx = \frac{1}{a} e^{ax} \sin bx - \frac{b}{a^2} e^{ax} \cos bx + C$$

$$\text{So } \int e^{ax} \sin bx \, dx = \frac{1}{1 + |b|^2/a^2} \left[\frac{1}{a} e^{ax} \sin bx - \frac{b}{a^2} e^{ax} \cos bx \right] + C$$

$$\int e^{2x} \sin 3x \, dx = \frac{1}{1+9/4} \left[\frac{1}{2} e^{2x} \sin 3x - \frac{3}{4} e^{2x} \cos 3x \right] + C$$

$$\begin{matrix} a=2 \\ b=3 \end{matrix}$$

$$\int x^3 e^{x^2} \, dx$$

$$\begin{matrix} u = x^2 \\ u' = 2x \end{matrix}$$

$$= \int 2x \left(\frac{1}{2} x^2 e^{x^2} \right) \, dx$$

$$= \int u' \left(\frac{1}{2} \cdot u e^u \right) \, dx = \frac{1}{2} \int u e^u \, dx$$

$$= \int \frac{1}{2} u e^u \, du = \frac{1}{2} \int u e^u \, du = \frac{1}{2} (u e^u - e^u) + C$$

$$= \frac{1}{2} \left(u e^u - e^u \right) + C = \frac{1}{2} x^2 e^{x^2} - \frac{e^{x^2}}{2} + C$$

$$\left[\begin{array}{l} \int \underbrace{f(u(x)) \cdot u'(x)}_{\int f(u) \, du} \\ \text{here } u' = \frac{du}{dx} \end{array} \right] \quad \text{so } \frac{du}{dx} \, dx = du$$

delvis integration

$$\int 3x e^{2x+1} dx = 3 \int x e^{2x} \cdot e' dx = 3e \int x \underbrace{e^{2x}}_u dx$$

$$u' = e^{2x} \\ u = \frac{1}{2} e^{2x}$$

$$= 3e \left(\frac{x}{2} e^{2x} - \int 1 \cdot \frac{1}{2} e^{2x} dx \right) \\ = 3e \left(\frac{x}{2} e^{2x} - \frac{1}{2} \left(\frac{1}{2} e^{2x} \right) \right) + C \\ = 3e \left(\frac{x}{2} e^{2x} - \frac{1}{4} e^{2x} \right) + C \\ = \frac{3e}{4} (2x - 1) e^{2x}$$

$$v = 3x - 5$$

$$v' = 3$$

$$u' = e^{-x} \\ u = -e^{-x}$$

~~ans~~

$$\int \underbrace{(3x - 5)}_v \underbrace{e^{-x}}_{u'} dx = -(3x - 5) e^{-x} - \int 3(-e^{-x}) dx \\ = -(3x - 5) e^{-x} + 3 \int e^{-x} dx = -(3x - 5) e^{-x} - 3 e^{-x} + C \\ = -(3x - 5 - 3) e^{-x} + C = \underline{\underline{(-3x + 2) e^{-x} + C}}$$

$$\text{app.} \quad \int x^{15} \ln |x^{12}| dx$$

$$\ln a^b = b \ln a$$

$$\text{Prep.} \quad x^3 = u$$

$$u' = 3x^2 \dots$$

$$= 3u^{2/3} \dots$$

$$x^{12} = x^{3 \cdot 4} = (x^3)^4 = u^4$$

$$x^{15} = (x^3)^5 = u^5$$

$$\ln |x^{12}| = 12 \ln |x|$$

Prep. use ansatz:

$$12 \int x^{15} \underbrace{\ln |x|}_{u'} dx$$

$$u' = \frac{1}{16} x^{15}$$

$$v = \ln |x|, \quad v' = \frac{1}{x}$$

$$u = \frac{x^{16}}{16}$$

$$12 \left[\frac{x^{16}}{16} \ln |x| - \int \frac{x^{16}}{16} \cdot \frac{1}{x} dx \right] + C$$

$$= 12 \left[\frac{x^{16}}{16} \ln |x| - \frac{1}{16} \left(\frac{x^{16}}{16} \right) \right] + C$$

$$= \frac{3}{4} x^{16} \ln |x| - \frac{3}{64} x^{16} + C$$